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 � �	
�
�
��� �����
�
 ��
����� �� ����� � �� �� �
� !�" �
#�
���� ���
$ ��$�% &��'() ��� 
$
*
��� 
������� %�+��*�� 
*�� ����% � *
�,��% ���
�
�-��� -���.� f # $
%
��
#����/��� �����% Λ, ��� %�#��+�,�/ $
%��/���� $
$������) ���*�$����) ��
���0�

���� �� ��*����%���� ��0
������� λ 1���� ��%�������%�/��� �������������� ����
����� %
�� ��#%��� ������� -���.� ����+���
�
 λ
��*��

�� 2� 3��,��� %�#��+�% ������� ����0�
��� -���.�1 $
 ����� �������+��� �
%����� *�%*�
4��� C+ = {z : 56 z > 0} -���.� ����+���
�
 λ
��*� % ��������
sin
�
�-�.�(���% &��'( -���.�1 log |f |. 7� �
�-�.�(��� &��'( %���0�,�/ +���# ��

�� -���.�1 f �� 11 �����+�� #��+���� �� ��0� C+ � 
$��0�,�/ # �����+�
1 -
�����
����������

3� %�#��+�(�
 ������� ����+���
��� λ
��*� �
�
�
�-��� � *�%���#� -���.� 
#� ��8�� ��
% �� ��0��

9��� -���.�� f ���
�
�-�� % #�������� *�%����� R = {z = x+ iy : x > x0,
0 < y < π} , {ρq} : *
���$
%����/ ����% -���.�1 f % R, #������
%���� � *
��$��
#�
������ 1���� $� ���� +�����) ρq = βq + iγq; {ωp} : *
���$
%����/ *
�,��% -���.�1
f % R, #������
%���� %�$*
%�$�
) ωp = ξp + iηp. ;��*�����
) 4
 f �� ��( �� ����%)
�� *
�,��% �� ∂R.

9��� f(x0) �= 0,∞, � #��+���� log f(x0) %������� < #�������� R # �
#��#���
{tβq + iγq : t ≥ 1} �� {tξq + iηq : t ≥ 1} *�� ���


log f(z) = log f(x0) +

z∫
x0

f ′(ζ)
f(ζ)

dζ,

�© ������ �����	
 ���
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� ���
0 arg f(z) = Im log f(z).
=������������� S(x;x0, f), ��� �� %%��� % !>") ����
��+�
 $
 !�) ?� ��:@	") ��$��


��#�%��� ����.����/��.01 ��2�34�33� 54� ��2/�67�

S(x;x0, f) = A(x;x0, f) +B(x;x0, f) + C(x;x0, f),

$�

C(x;x0, f) = 2
∑

ωp∈Rx

sin ηp

(
1
eξp

− eξp

e2x

)
,

A(x;x0, f) =
1
π

x∫
x0

(
log+ |f(t)| + log+ |f(t+ iπ)|)

(
1
et

− et

e2x

)
dt,

B(x;x0, f) =
2
πex

π∫
0

log+ |f(x+ iy)| sin y dy,

Rx = {z = t+ iy : x0 < t < x, 0 < y < π}�
 !��"���� �
 805��3�9 3������23�9 :�0/��1;� � 3�0<��=�3� 3� [x0,+∞) >63.

?�� λ(x) 3�:�2�@�A/� >63.?�@1 :�0/��33��

 !��"���� #
 B63.?�� f, ���0�0�>3� 2 :���.�33� ��2/�67� R, 3�:�2�@�A/� >63.

?�@1 /.�3;�33070 λ
���6 2 R9 �.C0 �/361�A /��4� a, b > 0 ��.�9 C0 54� 2/�� x > x0

2�.036@�A/�
!D S(x;x0, f) ≤ a λ(x+ b);

�D
x∫

x0

|log |f(t)||+|log |f(t+iπ)||
et dt ≤ a λ(x + b).

�4�/ ��.�� >63.?�E �0:3�;��0 ;���: Fλ.

9��� ck(x, f) = 2
π

∫ π

0
log |f(x + iy)| sin ky dy, k ∈ N, sin
.0�>�?�@3�� B6�F@

-���.�1 log |f(x+ iy)| �� -���.�1 %�$ y.

$������ �
 ����E λ G >63.?�� :�0/��33� � 3���E f 7040�0�>3� 2 :���.�33� ��2

/�67� R >63.?��� �05� ��.� �2��5=�33� �.2�2�4�3�3�H
)D f ∈ Fλ;
<D 2�.036@�A/� 6�02� �D �� �/361�A /��4� a, b > 0 ��.�9 C0 54� 2/�� x > x0 ��
k ∈ N 2�.036@�A/� |ck(x, f)| ≤ aex λ(x+ b).

��� $
%�$���� ��
���� � �� %��
����
%�%������
 ���� �����

%��� �
 I.C0 {zj : zj = xj + iyj} G /.�3;�33� �30=�3� 2 Rx, �05�

x∫
x0

∑
zj∈Rt

ekxj

ekt
sin kyj dt =

1
k

∑
zj∈Rx

sin kyj − 1
k

∑
zj∈Rx

ekxj

ekx
sin kyj , j ∈ N, x0 < x, A�B

x∫
x0

∑
zj∈Rt

ekt

ekxj
sin kyj dt =

1
k

∑
zj∈Rx

ekx

ekxj
sin kyj − 1

k

∑
zj∈Rx

sin kyj , j ∈ N, x0 < x. A>B
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�

%��� #
 ����E 7040�0�>3� 2 :���.�33� ��2/�67� R = {z = x+ iy : x > x0,
0 < y < π} , >63.?�� f 3� ��@ 3� 364�29 3� �041/�2 3� ∂R � f(x0) �= 0,∞. J��

2�4A3� ��.� /��22�530K�33�H

ck(x, f) =
2
k

∑
ρq∈Rx

(
ekx

ekβq
− ekβq

ekx

)
sinkγq+

+
1
π

x∫
x0

(
ekt

ekx
− ekx

ekt

) (
log |f(t)| + (−1)k+1 log |f(t+ iπ)|) dt+

+
1
π

(
ekx0

ekx
+

ekx

ekx0

) π∫
0

log |f(x0 + iy)| sinky dy+

+
1
π

(
ekx0

ex
− ekx

ex0

) π∫
0

arg f(x0 + iy) cos ky dy, k ∈ N, x0 < x. A�B

%��� &
 ����E {ρq} G 364� 7040�0�>30L >63.?�L /.�3;�33070 λ
���6 2 :���.�33�
Rx+1. �05� ∑

ρq∈Rx

sinγq ≤ aex λ(x+ b),

54� 5��.�� a, b > 0 � 54� 2/�� x > x0.

#
 	�������� ���������� ���������


��������� ���	 
� 5������,+� +��������) 
�����(�


x∫
x0

∑
zj∈Rt

ekxj

ekt
sin kyj dt = −1

k

x∫
x0

∑
zj∈Rt

ekxj sin kyj d
(
e−kt

)
=

= −1
k

∑
zj∈Rx

ekxj

ekx
sin kyj +

1
k

x∫
x0

e−ktd


 ∑

zj∈Rt

ekxj sinkyj


 .

&���.�� ψ(t) =
∑

zj∈Rt

ekxj sin kyj ��( ������� ekxj sin kyj % �
+��� tj = exj . C�0�)


������ �������� �
0�� #�*����� � %����$�

1
k

x∫
x0

t−k dψ(t) =
1
k

∑
zj∈Rx

e−kxjekxj sinkyj =
1
k

∑
zj∈Rx

sinkyj .

D���
��+�
) 
�����(�
 �*�%%�$�
8���� A>B� ���� � $
%�$��
�

��������� ���	 �� 9��� -���.�� f �
�
�
�-�� % #�������� R � �� ��( ����% ��
∂Rt. E���
��(�
 ��
���� *�
 ��8�� $
 -���.�1 f ′(z)/f(z) e−kz % Rt∫

∂Rt

f ′(z)
f(z)

e−kz dz = 2πi
∑

ρq∈Rt

e−kρq , k ∈ Z\{0}. A@B
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C����/�� ∂Rt ����$�(�/�� # +
���/
� %�$��#��%) �
$� A@B #�*�8��
 ���F

2πi
∑

ρq∈Rt

e−kρq =

t∫
x0

e−kτ f
′(τ)
f(τ)

dτ + ie−kt

π∫
0

e−iky f
′(t+ iy)
f(t+ iy)

dy +

+(−1)k+1

t∫
x0

e−kτ f
′(τ + iπ)
f(τ + iπ)

dτ − ie−kx0

π∫
0

e−iky f
′(x0 + iy)
f(x0 + iy)

dy, k ∈ Z\{0}. A�B

5������,+� +�������� % *��8
�� ��������� *��%
�
 �
�� A�B) ��(�


t∫
x0

e−kτ f
′(τ)
f(τ)

dτ = e−kt log f(t) − e−kx0 log f(x0) + k

t∫
x0

e−kτ log f(τ) dτ, A�B

k ∈ Z\{0}. �
���+� �� ���� % ����/
�� ���������) 
$��0�(�


t∫
x0

e−kτ f
′(τ + iπ)
f(τ + iπ)

dτ = e−kt log f(t+ iπ) − e−kx0 log f(x0 + iπ)+

+k

t∫
x0

e−kτ log f(τ + iπ) dτ, k ∈ Z\{0}. A�B

����

i

π∫
0

e−iky f
′(x0 + iy)
f(x0 + iy)

dy =

π∫
0

e−iky d log f(x0 + iy) = (−1)k log f(x0 + iπ)−

− log f(x0) + ik

π∫
0

e−iky log f(x0 + iy) dy, k ∈ Z\{0}. AGB

E �����%����� A�B:AGB �*�%%�$�
8���� A�B ����$� %����$�

2πi
∑

ρq∈Rt

e−kρq = e−kt log f(t) + k

t∫
x0

e−kτ log f(τ) dτ+

+ie−kt

π∫
0

e−iky f
′(t+ iy)
f(t+ iy)

dy + (−1)k+1e−kt log f(t+ iπ)+

+(−1)k+1k

t∫
x0

e−kτ log f(τ + iπ) dτ − ike−kx0

π∫
0

e−iky log f(x0 + iy) dy, k ∈ Z\{0}. AHB
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��%����/ A@B) � 
�0� � AHB) *��%��/�� *�� t ∈ (x0;x) #� %�����
� t = Re ρq. �
��


0��
 AHB �� ekt � *�
�������(�
 *
 t %�$ x0 $
 x. C$��0��


2πi

x∫
x0

ekt
∑

ρq∈Rt

e−kρq dt =

x∫
x0

log f(t) dt+

+k

x∫
x0

ekt




t∫
x0

e−kτ log f(τ) dτ


 dt+

x∫
x0


i

π∫
0

e−iky f
′(t+ iy)
f(t+ iy)

dy


 dt+

+(−1)k+1

x∫
x0

log f(t+ iπ) dt+ (−1)k+1k

x∫
x0

ekt




t∫
x0

e−kτ log f(τ + iπ) dτ


 dt+

+ i

π∫
0

e−iky log f(x0 + iy) dy − iek(x−x0)

π∫
0

e−iky log f(x0 + iy) dy, k ∈ Z\{0}. A�	B

5������%���� +�������� % $���
�� ��������� *��%
�
 �
�� A�	B $�(

x∫
x0

ekt




t∫
x0

e−kτ log f(τ) dτ


 dt =

1
k

x∫
x0




t∫
x0

e−kτ log f(τ) dτ


 dekt =

=
ekx

k

x∫
x0

e−kt log f(t) dt− 1
k

x∫
x0

log f(t) dt, k ∈ Z\{0}. A��B

D���
��+�


x∫
x0

ekt




t∫
x0

e−kτ log f(τ + iπ) dτ


 dt =

1
k

x∫
x0




t∫
x0

e−kτ log f(τ + iπ) dτ


 dekt =

=
ekx

k

x∫
x0

e−kt log f(t+ iπ) dt− 1
k

x∫
x0

log f(t+ iπ) dt, k ∈ Z\{0}. A�>B

E���
��%�%8� ��
���� &����� $
 ����/
�
 $
$���� *��%
�
 �
�� A�	B) ��(�


x∫
x0


i

π∫
0

e−iky f
′(t+ iy)
f(t+ iy)

dy


 dt = i

π∫
0

e−iky




x∫
x0

f ′(t+ iy)
f(t+ iy)

dt


 dy =

= i

π∫
0

e−iky (log f(x+ iy) − log(x0 + iy)) dy, k ∈ Z\{0}. A��B
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<���
%�,+� A��B:A��B) �*�%%�$�
8���� A�	B #�*�8��
 � %����$�

1
2π

π∫
0

e−iky log f(x+ iy) dy =

x∫
x0

ekt
∑

ρq∈Rt

e−kρq dt+

+
iekx

2π

x∫
x0

e−kt
(
log f(t) + (−1)k+1 log f(t+ iπ)

)
dt+

+
ek(x−x0)

2π

π∫
0

e−iky log f(x0 + iy) dy, k ∈ Z\{0}. A�@B

;
#��+��


lk(x, f) =
1
π

π∫
0

e−iky log f(x+ iy) dy, k ∈ Z.

��#*
����$�� *�$������� #��%�$+�,�/) 4


ck(x, f) = −Im
lk(x, f) + l−k(x, f)

2
, k ∈ Z. A��B

<���
%�,+� A>B �� A��B) 
$��0��


ck(x, f) = 2

x∫
x0

∑
ρq∈Rt

(
ekβq

ekt
+

ekt

ekβq

)
sin kγq dt+

+
1
π

x∫
x0

(
ekt

ekx
− ekx

ekt

) (
log |f(t)| + (−1)k+1 log |f(t+ iπ)|) dt+

+
1
π

(
ekx0

ekx
+

ekx

ekx0

) π∫
0

log |f(x0 + iy)| sinky dy+

+
1
π

(
ekx0

ekx
− ekx

ekx0

) π∫
0

arg f(x0 + iy) cos ky dy, k ∈ N, x0 < x. A��B

E���
��%�%8� ���� � $
 *��8
�
 $
$���� *��%
�
 �
�� A>B) 
�����(�
 A�B� ���� >
$
%�$��
�

��������� ���	 
� I�4
 βq ≤ x, �
$� *��%��/�� ���� ����%����/

eβq

ex
≤ ex+1

eβq
− eβq

ex
.

E%�$��
eβq

ex
≤ ex+1

(
1
eβq

− eβq

e2x+2

)
.
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C�0�) 
����/�� 0 < γq < π, �


∑
ρq∈Rx

eβq

ex
sin γq ≤

∑
ρq∈Rx+1

eβq

ex
sinγq ≤

∑
ρq∈Rx+1

ex+1

(
1
eβq

− eβq

e2x+2

)
sinγq. A��B

E� 
#��+����� > *��%� +������ A��B ( �������������
, C(x + 1;x0, 1/f), �
��


∑
ρq∈Rx

eβq

ex
sinγq ≤ ex+1C(x + 1;x0,

1
f

) ≤ aex λ(x + 1 + b) ≤ a1e
x λ(x + b1). A�GB

<���
%�,+�) 4
 -���.�� f ( -���.�(, ����+���
�
 λ
��*� �� ����
� *��8
1

��
%�
1 ��
���� A$�%� !>"B) ��(�
 C(x;x0, 1/f) ≤ a λ(x+ b)�

<����%�%8� 
#��+���� C(x;x0, 1/f), 
$��0�(�


∑
ρq∈Rx

(
ex

eβq
− eβq

e2x

)
sinγq ≤ aex λ(x + b). A�HB

E 
���$� �� ����%�
��� A��B:A�HB) 
$��0�(�


∑
ρq∈Rx

sinγq ≤
∑

ρq∈Rx

ex

eβq
sin γq ≤ aex λ(x + b)+

+
∑

ρq∈Rx

eβq

ex
sin γq ≤ a2e

x λ(x+ b2),

*�� 0 < γq < π� ���� � $
%�$��
�

&
 	�������� ������� �


��������� ������	 
� 9��� f ∈ Fλ.
��� �
�-�.�(���% &��'( -���.�1 f *��%��/�� 
.����

|ck(x, f)| ≤ 2
π

π∫
0

∣∣ log |f(x+ iy)|∣∣ |sin ky| dy, k ∈ N.

E 
���$� �� ����%����/ | sin ky| ≤ k sin y $�� 0 ≤ y ≤ π, A$�%�) ��*�����$) !@) ?� �	"B
�� ��
%� JB ��
���� � 
�����(�


|ck(x, f)| ≤ k
2
π

π∫
0

∣∣ log |f(x+ iy)|∣∣ sin y dy =

= k
2
π

π∫
0

log+ |f(x+ iy)| sin y dy + k
2
π

π∫
0

log− |f(x+ iy)| sin y dy ≤

≤ k aex λ(x+ b) + k
2
π

π∫
0

log− |f(x+ iy)| sin y dy, k ∈ N. A>	B
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E� ����
�
� *��8
1 
��
%�
1 ��
���� A��
���� > # !>"B S(x;x0, 1/f) = S(x;x0, f)+
+ε(x;x0, f), $� ε(x;x0, f) = O(1) *�� x→ ∞, $�� -���.�1 f ∈ Fλ ��(�
) 4
 -���.��
1/f ∈ Fλ. E%�$�� �� # ��
%� )D %�*��%�() 4
 S(x;x0, 1/f) ≤ a λ(x + b) + ε(x;x0, f),
$� ε(x;x0, f) = O(1) *�� x→ ∞. C����/�� B(x;x0, 1/f) ≤ S(x;x0, 1/f), �


2
π ex

π∫
0

log− |f(x+ iy)| sin y dy =

=
2
π ex

π∫
0

log+

∣∣∣∣ 1
f(x+ iy)

∣∣∣∣ sin y dy = B(x;x0,
1
f

) ≤ a1 λ(x+ b),

$� a1− $���� ������

C�0�) # ����%�
��� A�B �� ��
%� )D ��
���� � %�*��%�(

|ck(x, f)| ≤ k aex λ(x + b), A>�B

*�� $����� $
$����� a, b � %��� k ∈ N.

E��$�
 # A�B

ck(x+ 1, f) =
2
k

∑
ρq∈Rx+1

(
ek(x+1)

ekβq
− ekβq

ek(x+1)

)
sinkγq+

+
1
π

x+1∫
x0

(
ekt

ek(x+1)
− ek(x+1)

ekt

) (
log |f(t)| + (−1)k+1 log |f(t+ iπ)|) dt+

+
1
π

(
ekx0

ek(x+1)
+
ek(x+1)

ekx0

) π∫
0

log |f(x0 + iy)| sinky dy+

+
1
π

(
ekx0

ek(x+1)
− ek(x+1)

ekx0

) π∫
0

arg f(x0 + iy) cosky dy, k ∈ N. A>>B

�
��
0��
 
��$%� �
�� ��%�
��� A>>B �� e−k, %�$�����
 %�$ ��� ck(x, f), � %��
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�����%8� A�B) 
�����(�


1
ek
ck(x+ 1, f) − ck(x, f) =

=
2
k

∑
ρq∈Rx+1

(
ekx

ekβq
− ekβq

e2kekx

)
sin kγq − 2

k

∑
ρq∈Rx

(
ekx

ekβq
− ekβq

ekx

)
sin kγq+

+
1
π

x+1∫
x0

(
ekt

ek(x+2)
− ekx

ekt

) (
log |f(t)| + (−1)k+1 log |f(t+ iπ)|) dt−

− 1
π

x∫
x0

(
ekt

ekx
− ekx

ekt

) (
log |f(t)| + (−1)k+1 log |f(t+ iπ)|) dt+

+
1
π

(
1
e2k

− 1
)
ekx0

ekx

π∫
0

log |f(x0 + iy)| sinky dy+

+
1
π

(
1
e2k

− 1
)
ekx0

ekx

π∫
0

arg f(x0 + iy) cos ky dy =

= I1 + I2 + I3 + I4, k ∈ N. A>�B

�
#������
 I1

I1 =
2
k

∑
ρq∈Rx+1

(
ekx

ekβq
− ekβq

e2kekx

)
sin kγq − 2

k

∑
ρq∈Rx

(
ekx

ekβq
− ekβq

ekx

)
sin kγq =

=
2
k

∑
ρq∈Rx+1\Rx

(
ekx

ekβq
− ekβq

e2kekx

)
sin kγq+

+
2
k

(
1 − 1

e2k

) ∑
ρq∈Rx

ekβq

ekx
sin kγq = G1 +G2, k ∈ N.

C.����
 |G1|,

|G1| =
2
k

∣∣∣∣∣∣
∑

ρq∈Rx+1\Rx

(
ekx

ekβq
− ekβq

e2kekx

)
sin kγq

∣∣∣∣∣∣ , k ∈ N.

C����/�� ek(x−βq) − ek(βq−x−2) ≤ 1 $�� %��� x ≤ ρq ≤ x+ 1, �


|G1| ≤ 2
k

∣∣∣∣∣∣
∑

ρq∈Rx

sin kγq

∣∣∣∣∣∣ ≤ 2
∑

ρq∈Rx

sin γq, k ∈ N, A>@B
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� ���
0

|G2| =
2
k

∣∣∣∣∣∣
(

1 − 1
e2k

) ∑
ρq∈Rx

ekβq

ekx
sin kγq

∣∣∣∣∣∣ ≤

≤ 2
k

∣∣∣∣∣∣
∑

ρq∈Rx+1

sinkγq

∣∣∣∣∣∣ ≤ 2
∑

ρq∈Rx+1

sinγq, k ∈ N. A>�B

C�
0) #���
��%�%8� ���� � $
 �*�%%�$�
8��/ A>@B �� A>�B) 
�����(�


|I1| ≤ aex λ(b+ x). A>�B

C.����
 I2

|I2| =

∣∣∣∣∣∣
1
π

x+1∫
x0

(
ekt

ek(x+2)
− ekx

ekt

) (
log |f(t)| + (−1)k+1 log |f(t+ iπ)|) dt −

− 1
π

x∫
x0

(
ekt

ekx
− ekx

ekt

) (
log |f(t)| + (−1)k+1 log |f(t+ iπ)|) dt

∣∣∣∣∣∣ ≤

≤ 1
π

∣∣∣∣∣∣
(

1
e2k

− 1
) x∫

x0

ekt

ekx

(
log |f(t)| + (−1)k+1 log |f(t+ iπ)|) dt

∣∣∣∣∣∣ +

+
1
π

∣∣∣∣∣∣
x+1∫
x

(
ekt

ek(x+2)
− ekx

ekt

) (
log |f(t)| + (−1)k+1 log |f(t+ iπ)|) dt

∣∣∣∣∣∣ ≤

≤ 1
π

x+1∫
x0

(|log |f(t)|| + |log |f(t+ iπ)||) dt.

<����%�%8� ��
%� >B 
#��+���� >) 
�����(�


|I2| ≤ 1
π

x+1∫
x0

ex+1

et
(|log |f(t)|| + |log |f(t+ iπ)||) dt ≤ ex+1a λ(x + b), A>�B

$� a, b : $���� ������

E��%�0��
) 4
 $
$���� |I3| �� |I4| �� *���%�4�,�/ $���
1 ����
1� K*��%$�)
|log |f(x0 + iy)| sinky| ≤ K � |arg f(x0 + iy) cos ky| ≤ K, 0 < y < π, $� K : $����
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������ �
$�

|I3| + |I4| =

∣∣∣∣∣∣
1
π

(
1
e2k

− 1
)
ekx0

ekx

π∫
0

log |f(x0 + iy)| sin ky dy
∣∣∣∣∣∣+

+

∣∣∣∣∣∣
1
π

(
1
e2k

− 1
)
ekx0

ekx

π∫
0

arg f(x0 + iy) cos ky dy

∣∣∣∣∣∣ ≤

≤ 1
π

1
e2k

πK1 +
1
π

1
e2k

πK1 ≤ K2, A>GB

$� K1, K2 : $���� ������
C�0�) # A�B �� A>�B:A>GB ��(�


|ck(x, f)| − 1/ek |ck(x+ 1, f)| ≤ ∣∣1/ek ck(x+ 1, f) − ck(x, f)
∣∣ ≤ aex λ(x+ b), k ∈ N.

E%�$��

|ck(x, f)| ≤ 1/ek |ck(x+ 1, f)| + aex λ(x+ b), k ∈ N.

<���
%�,+� A>�B) 
$��0��
 |ck(x, f)| ≤ k/ek aλ(x + 1 + b) + aex λ(x + b), #%�$��
%�*��%�( <D) 
����/�� ��
%� >B %�
$��/ % 
#��+���� ����� Fλ.

9��� ��*�� %��
��,�/�� ��
%� <D ��
���� ��
��� -���.�1 f *��%��/�� -
����� ;����
��
L������

log |f(x+ iy)| =
1
2π

∫
∂Px1

log |f(u+ iv)| ∂G(z, ζ)
∂n

ds−
∑

ρq∈Px1

G(z, ρq), A>HB

$� Px1 = {z = x+ iy : x1 − α < x < x1 + α, 0 < y < π} , x0 + α < x1, α > 0, G(z, ζ) :
-���.�� 2���� *���
������� Px1 ,

∂G(z,ζ)
∂n : *
��$�� #� %�����8�/
, �
�����, A!�)

?� ��"B� C����/�� G(z, ζ) ≥ 0, �
 �*��%$0�(�/�� ���� �*�%%�$�
8����F

log |f(x+ iy)| ≤ 1
2π

∫
∂Px1

log |f(u+ iv)| ∂G(z, ζ)
∂n

ds. A�	B

<��
����
%�,+� ��
��, ���*��+��� -���.� A$�%�) ��*�����$) !�) ��� M555")
!�") !�"B) �
0��
 
������� �
#%������ �$�� � -
����� ;����
��
L������ A>HB

G(z, ζ) = 2
∞∑

m=1

1
m(1 − e−4mα)

em(u−x)
(
1 − e2m(x−x1−α)

)
×

×
(
1 − e2m(x1−u−α)

)
sinmy sinmv, x1 − α ≤ u < x ≤ x1 + α, A��B

G(z, ζ) = 2
∞∑

m=1

1
m(1 − e−4mα)

em(x−u)
(
1 − e2m(x1−x−α)

)
×

×
(
1 − e2m(u−x1−α)

)
sinmy sinmv, x1 − α ≤ x < u ≤ x1 + α. A�>B
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�
$�

∂G(z, u)
∂n

= 2
∞∑

m=1

1
1 − e−4mα

em(u−x)
(
1 − e2m(x−x1−α)

)
×

×
(
1 − e2m(x1−u−α)

)
sinmy, x1 − α ≤ u < x ≤ x1 + α, A��B

∂G(z, u+ iπ)
∂n

= 2
∞∑

m=1

(−1)m+1

1 − e−4mα
em(u−x)

(
1 − e2m(x−x1−α)

)
×

×
(
1 − e2m(x1−u−α)

)
sinmy, x1 − α ≤ u < x ≤ x1 + α; A�@B

∂G(z, u)
∂n

= 2
∞∑

m=1

1
1 − e−4mα

em(x−u)
(
1 − e2m(x1−x−α)

)
×

×
(
1 − e2m(u−x1−α)

)
sinmy, x1 − α ≤ x < u ≤ x1 + α, A��B

∂G(z, u+ iπ)
∂n

= 2
∞∑

m=1

(−1)m+1

1 − e−4mα
em(x−u)

(
1 − e2m(x1−x−α)

)
×

×
(
1 − e2m(u−x1−α)

)
sinmy, x1 − α ≤ x < u ≤ x1 + α; A��B

∂G(z, x1 − α)
∂n

= 4
∞∑

m=1

1
1 − e−4mα

em(x1−x−α)×

×
(
1 − e2m(x−x1−α)

)
× sinmy sinmv, A��B

∂G(z, x1 + α)
∂n

= 4
∞∑

m=1

1
1 − e−4mα

em(x−x1−α)×

×
(
1 − e2m(x1−x−α)

)
× sinmy sinmv. A�GB
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K*�%%�$�
8���� A�	B *�� α = 1, 0 < δ < 1 � x = x1 ��( %����$

log |f(x1 + iy)| ≤ 1
2π

π∫
0

log |f(x1 + 1 + iv)| ∂G(z, x1 + 1)
∂n

dv+

+
1
2π

π∫
0

log |f(x1 − 1 + iv)| ∂G(z, x1 − 1)
∂n

dv +
1
2π

x1−δ∫
x1−1

log |f(u)| ∂G(z, u)
∂n

du+

+
1
2π

x1+δ∫
x1−δ

log |f(u)| ∂G(z, u)
∂n

du+
1
2π

x1+1∫
x1+δ

log |f(u)| ∂G(z, u)
∂n

du+

+
1
2π

x1−δ∫
x1−1

log |f(u+ iπ)| ∂G(z, u+ iπ)
∂n

du +
1
2π

x1+δ∫
x1−δ

log |f(u+ iπ)| ∂G(z, u+ iπ)
∂n

du+

+
1
2π

x1+1∫
x1+δ

log |f(u+ iπ)| ∂G(z, u+ iπ)
∂n

du = I1 + I2 + I31 + I32 + I33 + I41 + I42 + I43.

<��
�����%8� ����%����/ a+ ≤ |a|, ��(�

log+ |f(x1 + iy)| ≤ (I1 + I2)+ + I+

31 + I+
32 + I+

33 + I+
41 + I+

42 + I+
43. A�HB

�
#������
 I1 + I2

I1 + I2 =
1
2π

π∫
0

∂G(z, x1 + 1 + iv)
∂n

log |f(x1 + 1 + iv))| dv+

+
1
2π

π∫
0

∂G(z, x1 − 1 + iv)
∂n

log |f(x1 − 1 + iv)| dv =

=
2
π

π∫
0

∞∑
m=1

1
1 − e−4m

e−m
(
1 − e−2m

)
sinmy log |f(x1 + 1 + iv)| sinmv dv+

+
2
π

π∫
0

∞∑
m=1

1
1 − e−4m

e−m
(
1 − e−2m

)
sinmy log |f(x1 − 1 + iv)| sinmv dv.

C����/�� ∣∣∣∣ 1
1 − e−4m

e−m
(
1 − e−2m

)
sinmy

∣∣∣∣ ≤ e−m

1 + e−2m
≤ 1
em

,

�
 #� ��
���
, <� (�8������ ��$
∞∑

m=1

1
1 − e−4m

e−m
(
1 − e−2m

)
sinmy sinmv
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��%�
����
 #����(�/�� *�� 0 ≤ v ≤ π �  
�
 �
0�� *
+����
 �������%���� �
��

I1 + I2 =
∞∑

m=1

1
em

(cm(x1 + 1, f) + cm(x1 − 1, f)) .

C�0�) #��$�
 # ��
%
, <D ��
���� �

|I1 + I2| ≤
∞∑

m=1

1
em

(|cm(x1 + 1, f)| + |cm(x1 − 1, f)|) ≤ a ex1 λ(x1 + b),

$� a, b : $���� ������ �
��
0�%8� .� �*�%%�$�
8���� �� sin y � *�
�������%�%8� #�
y %�$ 0 $
 π, 
�����(�


2π∫
0

|I1 + I2| sin y dy ≤ 2 aex1 λ(x1 + b). A@	B

�
#������
 I31 *�� α = 1 � x = x1. C����/��
∂G(z,ζ)

∂n ≥ 0, log+ |x| ≤ |log |x|| , �


I+
31 ≤ 1

π

x1−δ∫
x1−1

|log |f(u)||
∞∑

m=1

1
1 + e−2m

em(u−x1)
(
1 − e2m(x1−u−1)

)
sinmy du. A@�B

C����/��
∣∣∣∣ 1
1 + e−2m

e(u−x1)
(
1 − e−2m(x1−u−1)

)
sinmy

∣∣∣∣ ≤ em(u−x1) ≤ e−mδ,

� ��0
��,+� ��$
∞∑

m=0
e−mδ = 1

1−e−δ , #��0�� ) �
 #� ��
���
, <� (�8������ ��$

A@�B #��0�� ���
�,��
 � ��%�
����
 *�� 0 ≤ y ≤ π, x1 − 1 ≤ u ≤ x1 − δ. C�0�)  
�

�
0�� *
+����
 �������%��� �� [x1 − 1, x1 − δ]. �
��

I+
31 ≤

∞∑
m=1

sinmy
1
π

x1−δ∫
x1−1

|log |f(u)|| 1
1 + e−2m

em(u−x1)
(
1 − e2m(x1−u−1)

)
du. A@>B

�
��
0��
 �*�%%�$�
8���� A@>B �� sin y � *�
�������(�
 #� y %�$ 0 $
 π. �
$�

π∫
0

I+
31 sin y dy ≤

≤
π∫

0

∞∑
m=1

sinmy
1
π

x1−δ∫
x1−1

|log |f(u)|| e
m(u−x1)

1 + e−2m

(
1 − e2m(x1−u−1)

)
du sin y dy.
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;
+����� �������%���� ��%�
����
 #��0�
�
 �� [0, π] ��$� $�(

∞∑
m=1

π∫
0

sinmy sin y
1
π

x1−δ∫
x1−1

|log |f(u)|| e
m(u−x1)

1 + e−2m

(
1 − e2m(x1−u−1)

)
du dy.

E 
��
�
���/�
��� ������� {sinmy}∞m=1 �� [0, π], ��(�


π∫
0

I+
31 sin y dy ≤

π∫
0

sin2 y

x1−δ∫
x1−1

|log |f(u)|| eu−x1

1 + e−2

(
1 − e2(x1−u−1)

)
du dy ≤

≤ 1
2

x1−δ∫
x1−1

|log |f(u)|| eu−x1

1 + e−2

(
1 − e2(x1−u−1)

)
du dy ≤

≤ 1
2

x1−δ∫
x1−1

|log |f(u)|| du ≤ 1
2

x1+1∫
x0

|log |f(u)|| du.

C����/�� 1
ex1+1 ≤ 1

et , *�� t ≤ x1 + 1, �
 %��
�����%8� ��
%� >B) 
�����(�


1
ex+1

π∫
0

I+
31 sin y dy ≤ aλ(x1 + b). A@�B

D���
��+�
 $
 I+
31 $
%
$��/�� 
.���� $�� I+

33, I
+
41 �� I+

43.
E ���
�,��
1 ��*����%�
��� ��������� ������ ����( ���� δ > 0, δ = δ(x1) < 1, 4


�
0�� # ���������% |I32| � |I42| �� *���%�4�( 1. C�0�) # �����%����� �*�%%�$�
8��/
A@	B �� A@�B 
�����(�


∫ π

0
log+ |f(x1 + iy)| sin y dy ≤ exa1λ(x + b1), $� a1, b1 : $����

������ 3� *
��#���) 4
 B(x;x0, f) ≤ a λ(x+ b). ��*�� 
.����
 A(x;x0, f))

A(x;x0, f) =
1
π

x∫
x0

(
log+ |f(t)|+log+ |f(t+ iπ)|)

(
1
et
− et

e2x

)
dt ≤

1
π

x∫
x0

log+ |f(t)| + log+ |f(t+ iπ)|
et

dt.

<��
�����%8� ��
%� >B �� ����%����/ log+ |x| ≤ |log |x|| , 
$��0�(�
 A(x;x0, f) ≤
≤ a1 λ(x+ b1)) $� a1, b1 : $���� ������

C�
0) ��
���� � $
%�$��
�

0� 0%!1� 2� 3�� 4�#�)" 5� 3� :;<=
>= ?>=
>? @>AB;C D;= @>=;@;=EB
F GHC >HA
=> D<HFA
;H?
IIJ<KK� L;F� MGAB� :=GHF> N 0524� N �
� N O� 18�52�
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